Show Your Work
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General Observations

Show work! ltensuresyouare doingthe rightsteps. Makes it easy to review and
checkyouranswer, makes iteasierforteacherto find the answer. Justa good
habitto getinto when things get get more challengingwith more steps. Plus you
can get part marks even if wrong answer!

Lable parts of your calculationfor clarityto you and to teacher!

State answer in words often, where appropriate.

Find the mean and median of
LG\V children aged {1,2,3.4,5} years
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Things do get more difficult you know! What is the
+S0 do as | always do:

«Show the formula, step g;euar:; tis
« Plug in the numbers and units
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Get used to showing your steps even if trivial. You may
need to teach your niece some day. It organizes your
thoughts. Others (ie: customers, clients) may want to see
how you got your calculation!

The school asks you how much it will cost to replace
the carpet in the class room, they are paying you as a
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Show units! When you get an answer of 12,345 is it pickles?Camels per mile?

Pesos per day? Show units. Showing units throughoutthe entirecalculationis
even better, ensuresyou are using the correctformula.
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If you were doing science class or nursing or
advance business you would need to be very
concise in rather complicated formulas

This is what you would be doing in Grade 11
Applied or Calculus class

Travis makes decoy ducks. His profit is
given by the equation Profit = -ﬂ' +4p +2

! How much should he charge for his decoys
Phﬂ"l = - +l+f' +d to make maximum profit? "
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Check your answer! —> Reah:ﬁc?

Plug back in
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